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Comments 

The candidate failed to identify the two types of food contamination in Part (b). He/She also failed 

to explain why the average airfare dropped significantly in these years. His/Her understanding of the 

Gap Model of Service Quality was also limited. (Q 1) 

The candidate failed to identify the licence and the issuing organisation; he/she also failed to 

identify three inappropriate arrangements from the itinerary provided. He/She had an elementary 

understanding of the man-made attractions and the activities held. (Q 3) 
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Comments 

The candidate’s explanation of Hudman’s motivator as well as the five attributes of attraction was 
irrelevant. (Q 3) 

The candidate failed to provide the five factors considered by a conference organiser in organising 

an incentive trip to Hong Kong. He/She demonstrated a very limited understanding of the front and 

back of the house departments; most of the answers were irrelevant. (Q 4) 

The candidate failed to describe the four main roles of government in tourism development. The 

answers on the aspects of personal hygiene were also irrelevant. (Q 5) 
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